00013

|
00013
00013
00013
00013
H12.2.1
H17
1.69%
1.25 kg/ 1.19
) 365 509.8 kg  446.0
1026
625
771
308 1.8
500
237 S48 H22

2005




I+

=+
316 | 306 | 302 | 207 | 289 | 276 | 275 | 267 |291.0 = 17.2
313.0 [310.3 |324.7 [303.3 [302.7 [303.0 [234.0 [277.3 | 296.0 =+ 28.4
696.7 [676.0 |700.3 [628.3 [669.7 |707.7 |614.0 [607.7 | 662.5 = 40.4
1.25 | 1.19 [ 1.22 [ 1.06 | 1.19 | 1.31 [ 1.23 | 1.07 | 1.19 = 0.09
136.0 [133.8 |138.0 [131.0 [133.4 [139.0 [129.6 [135.8 |134.6 = 3.3
512.3 [505.2 [507.5 [479.6 [502.0 |509.1 [473.8 [447.5 |492.1 =+ 22.9
211.9 [206.6 |212.6 [188.2 [204.4 |213.2 [188.6 [186.2 | 201.5 =+ 11.8
214.4 [209.6 |211.6 [188.0 [200.2 |210.2 [187.4 [184.4 | 200.7 =+ 12.4
426.3 [416.2 |424.2 |376.2 [404.6 [423.4 |376.0 [370.6 [402.2 + 24.1
61.2 | 61.6 | 60.6 | 59.9 | 60.4 | 59.8 | 61.2 | 61.0 | 60.7 = 0.6
49| 49| 49| 43| 52| 55| 48| 49| 49.3 = 3.4
20| 1.9 22| 1.8 2.1 26| 1.9 2.8 2.2 = 0.4
6.3| 6.0| 6.4| 5.0 5.7| 6.5| 6.3 6.5| 6.2 = 0.3
72.8 | 72.8 | 72.8 | 72.6 [ 73.1 | 73.3 | 73.5 | 73.0| 73.0 = 0.3
54| 6.2| 6.8| 5.8| 5.0| 55| 5.7 6.0| 5.8 = 0.5
A A A A A A A A
1.00 | 1.67 | 1.33 [ 1.00 | 0.67 | 1.33 [ 0.67 | 1.00 | 1.08 =+ 0.34
3 4 4 3 3 4 3 3| 3.4 = 0.5
4 3 3 4 3 3 3 3| 3.3 = 0.5
3 4 4 3 3 4 3 3| 3.4 = 0.5
3 4 4 3 3 4 3 3| 3.4 = 0.5
3 4 4 3 3 4 3 3| 3.4 = 0.5
3 4 4 3 3 4 3 3| 3.4 = 0.5
3 4 4 3 3 4 3 3| 3.4 = 0.5
3 3 3 3 3 3 3 3| 3.0 = 0.0
4 4 4 4 4 4 4 4| 4.0 = 0.0
4 4 4 4 4 4 4 4| 4.0 = 0.0
3 4 4 3 3 4 3 3| 3.4 = 0.5
A3 |A-4 [A-4 |A-3 |A-3 [A-4 |A-3 |A-3




